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Marquez completes half-
century of career wins
BRNO

Honda's Marc Marquez

claimed his 50th career race
win at the Czech MotoGP on

Sunday after the race had
been delayed by 45 minutes
due to rain. Spain's defending
champion beat Ducati's

Italian Andrea Dovizioso by
2.4sec to extend his
advantage at the top of the
riders' standings with his

sixth triumph of the season.

Australian Jack Miller was

third in the race cut by one

lap due to the weather.

Earlier, Marquez's 58th pole

position took him equal with

Mick Doohan of Australia. AFP


